
1. Rechne nur den Überschlag

37 + 695 + = 497 + 201 + =

611 + 96 + = 95 + 810 + =

19 + 173 + = 540 + 273 + =

506 + 395 + = 739 + 33 + =

502 + 186 + = 170 + 422 + =

473 + 177 + = 158 + 609 + =

110 + 872 + = 129 + 465 + =

195 + 544 + = 558 + 257 + =

626 + 178 + = 509 + 133 + =

95 + 50 + = 335 + 85 + =

313 + 187 + = 164 + 337 + =

786 + 60 + = 365 + 364 + =

399 + 564 + = 185 + 594 + =

203 + 558 + = 13 + 53 + =

398 + 304 + = 231 + 365 + =

2. Rechne nur den Überschlag

685 - 524 - = 505 - 471 - =

748 - 414 - = 437 - 349 - =

776 - 667 - = 369 - 317 - =

138 - 96 - = 976 - 594 - =

808 - 501 - = 211 - 211 - =

988 - 594 - = 678 - 176 - =

789 - 320 - = 760 - 356 - =

617 - 46 - = 962 - 141 - =

821 - 17 - = 503 - 413 - =

310 - 91 - = 546 - 456 - =

580 - 454 - = 550 - 478 - =

322 - 206 - = 874 - 508 - =

881 - 617 - = 916 - 425 - =

844 - 564 - = 201 - 141 - =

940 - 294 - = 862 - 685 - =

Addieren und Subtrahieren: Überschlagen



1. Rechne nur den Überschlag

37 + 695 40 + 700 = 740 497 + 201 500 + 200 = 700

611 + 96 610 + 100 = 710 95 + 810 100 + 810 = 910

19 + 173 20 + 170 = 190 540 + 273 540 + 270 = 810

506 + 395 510 + 400 = 910 739 + 33 740 + 30 = 770

502 + 186 500 + 190 = 690 170 + 422 170 + 420 = 590

473 + 177 470 + 180 = 650 158 + 609 160 + 610 = 770

110 + 872 110 + 870 = 980 129 + 465 130 + 470 = 600

195 + 544 200 + 540 = 740 558 + 257 560 + 260 = 820

626 + 178 630 + 180 = 810 509 + 133 510 + 130 = 640

95 + 50 100 + 50 = 150 335 + 85 340 + 90 = 430

313 + 187 310 + 190 = 500 164 + 337 160 + 340 = 500

786 + 60 790 + 60 = 850 365 + 364 370 + 360 = 730

399 + 564 400 + 560 = 960 185 + 594 190 + 590 = 780

203 + 558 200 + 560 = 760 13 + 53 10 + 50 = 60

398 + 304 400 + 300 = 700 231 + 365 230 + 370 = 600

2. Rechne nur den Überschlag

685 + 524 690 - 520 = 170 505 + 471 510 - 470 = 40

748 + 414 750 - 410 = 340 437 + 349 440 - 350 = 90

776 + 667 780 - 670 = 110 369 + 317 370 - 320 = 50

138 + 96 140 - 100 = 40 976 + 594 980 - 590 = 390

808 + 501 810 - 500 = 310 211 + 211 210 - 210 = 0

988 + 594 990 - 590 = 400 678 + 176 680 - 180 = 500

789 + 320 790 - 320 = 470 760 + 356 760 - 360 = 400

617 + 46 620 - 50 = 570 962 + 141 960 - 140 = 820

821 + 17 820 - 20 = 800 503 + 413 500 - 410 = 90

310 + 91 310 - 90 = 220 546 + 456 550 - 460 = 90

580 + 454 580 - 450 = 130 550 + 478 550 - 480 = 70

322 + 206 320 - 210 = 110 874 + 508 870 - 510 = 360

881 + 617 880 - 620 = 260 916 + 425 920 - 430 = 490

844 + 564 840 - 560 = 280 201 + 141 200 - 140 = 60

940 + 294 940 - 290 = 650 862 + 685 860 - 690 = 170

Addieren und Subtrahieren: Überschlagen


